H & 0l & AHS B Ml A

M 1 ARIEX

1t

42N BY . GABH) - HRAY - BES ofl & A RS2

SEXAL= 3,056,473,780 2,802,523,431 253,950,349
2,378,175,143
84,013,354
86,634,584
506,650,699
1,000,000

=T

H

[l
=

Arel S K|t 682,361,910 602,095,551 80,266,359
469,512,985
17,539,682
195,309,243

oA

I=dE2 515,067,733 449,296,699 65,771,034
458,310,214

5,143,969
51,613,550

oA

-
Iy
I
=
o
>
fon
o
i
00
o
O

515,067,733 449,296,699 65,771,034
458,310,214

5,143,969
51,613,550

o

IIRASHSEES XA 148,600 188,500 39,900
307 212t01™ 55,000 120,000 265,000

>
o
Jo
~
=
18
HI
P

55,000 120,000 65,000
55,000

In
0
|U
H0
02
i
o

=4
rz

93,600 68,500 25,100

IS

(o)

>
S| 2
i 4y

X | oin
0z
HT
kA
oy

93,600 68,500 25,100
14,400
79,200

P
0

O
1
I
=]
]
0= MO

O
J
]
1K
n
o
M
02
=
{0

S| =M EHZ ORI (M) 423,631,330 370,848,754 52,782,576
384,004,000
39,627,330

Mo

308 XtXIEMSO0IE 423,631,330 370,848,754 52,782,576
384,004,000
39,627,330

Mo

01 HRSHH B EES 423,631,330 370,848,754 52,782,576
O=RD | ZMESZSH(MASH) 423,631,330
384,004,000
39,627,330

hoH

S| ZMEEHZHAR (1) (SHEEXR) 567,258 467,144 100,114
308 AHXIHMSO0IA 567,258 467,144 100,114

E
2
2
o
T
v

567,258 467,144 100,114
IZMESH(RSS0) 567,258

SR =MEHZ ORI (GHAHEA) 2,736,267 2,454,354 281,913
2,566,000
170,267

Mo




A SXHE= A 0 AEIEXI
M J|=MEEH
Cel MASHSAIRtE LSS (SH9 H2)
A - 24 - 38 - HA(3) - MM - BES Oi &k ag% Hunsz
308 RXISHHMSOIH 2,736,267 2,454,354 281,913
= 2,566,000
= 170,267
01 AXSHBSEES 2,736,267 2,454,354 281,913
O=eD|IZMEZH(HAERMSA) 2,736,267
= 2,566,000
[ 170,267
rAr=1=INPNE._ PN 19,537,050 13,063,400 6,473,650
= 18,174,000
= 1,363,050
308 AXIHMISO0I & 19,537,050 13,063,400 6,473,650
= 18,174,000
= 1,363,050
01 HXSHBLEES 19,537,050 13,063,400 6,473,650
mPAF=-IN PPN 19,537,050
= 18,174,000
= 1,363,050
SEAtAIZ ALK R 1,563,378 1,515,865 47,513
= 1,202,598
& 360,780
308 AXIHMSO0I & 1,563,378 1,515,865 47,513
s 1,202,598
= 360,780
01 AXIEHBLEES 1,563,378 1,515,865 47,513
OSSAIRIZACIANKA(RESY) 1,563,378
s 1,202,598
s 360,780
Atell 22l AP RIR 224,250 224,250 0
s 172,500
[ 51,750
308 RIXIEME0IH 224,250 224,250 0
s 172,500
& 51,750
01 XN BAELS 224,250 224,250 0
DAt 22 NS X2 (2SS 224,250
s 172,500
& 51,750
SHEAHEOIM2Y 3,120 0 3,120
= 2,400
= 720
308 REXISHMSOIH 3,120 0 3,120
s 2,400
= 720




2= SAHE= SA ARSI
B ) EMBEE
ol MASHSARHHYSS (Gt H2)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
01 XN B2 LS 3,120 0 3,120
O8ZEA+HHOIM2E(2S5Y) 3,120
= 2,400
S 720
SHSAEESHAMLIANA 2,572,013 2,203,152 368,861
[ 2,279,000
= 293,013
308 AFRIEHMSOIE 2,572,013 2,203,152 368,861
[ 2,279,000
= 293,013
01 AXH B2 LS 2,572,013 2,203,152 368,861
OSHSASHSEMUIAXIR(ZECHI) 2,572,013
s 2,279,000
s 293,013
A2 2 A 36,546,690 36,864,000 A317,310
= 356,224,634
S 1,322,056
308 AtXIEHMSOIE 36,546,690 36,864,000 A317,310
= 36,224,634
= 1,322,056
01 XN EES 36,546,690 36,864,000 A317,310
OXE22 A 36,546,690
= 35,224,634
= 1,322,056
KNSR 2 SR 4,863,954 4,603, 147 260,807
= 4,309,833
[ 564,121
308 AIXIHHISOIA 4,863,954 4,603,147 260,807
= 4,309,833
= 554,121
01 X SHHBAEXS 4,863,954 4,603, 147 260,807
OXIS e 2SS X~ 4,863,954
= 4,309,833
= 554,121
RS A SO AL AHEH O 20,000 20,000
307 lztol & 20,000 20,000
11 AMEISXAEEES 20,000 20,000
XA E O LA 2B Ot 20,000
A2 At 2l 145,554 138,707 6,847
[ 128,972
== 16,582
308 AFAIEHMSOIE 145,554 138,707 6,847
s 128,972




A= SXA2= 2A 1 A== X1
PSRL N Jlx*”%_‘?‘_é*
=2l MASHSAMAHYES EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e
& 16,582
01 XN BAELS 145,554 138,707 6,847
Ot At 22 (BSE5Y) 145,554
s 128,972
& 16,582
== E=ININYSEY FabNE| 91,32 92,904 21,512
307 QI2H0| M 16,800 16,800 0
1 ASI=SXAIEEE 16,800 16,800 0
2D NEHEHSA S 16,800
308 REXIHMSOIH 74,592 76,104 21,512
01 AXIEHELAEXS 74,59 76,104 A1,512
XSS MBS A S 74,59
NHEHEH A SHATS X & 150,000 150,000 0
308 AXIHMSO0I & 150,000 150,000
01 XN BAELS 150,000 150,000
OXea8StA X2 150,000
HATEHH2E XA 603,938 595,557 8,381
= 422,757
= 181,181
307 QI2H0| A 603,938 595,557 8,381
= 422,757
& 181,181
ARSI =XAIEE X 603,938 595,557 8,381
2 NENH2E XA 603,938
= 422,757
& 181,181
ZATNSELSAIS XA 27,000 27,000 0
307 2Iz2+0l™ 27,000 27,000
11 ASI=SXAIEE X 27,000 27,000
O ELSIAIL XA 27,000
CE=0=SXAEI I sES 80,002 63,747 16,255
= 47,060
= 32,942
403 XX SHHMSK=01A 80,002 63,747 16,255
= 47,060
T 32,942
01 RIS A2 2 £ 80,002 63,747 16,255
O-=0sXAd)IsEZAY 80,002
= 47,060
& 32,942
LIS XIAE S AR A4 E ] 2,400 2,400
308 RXIHMSOIH 2,400 2,400 0




2 =xAL= At A=K
I | ZMHSE
o9l HASHSASIH YIS (crol: m2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HIRE2
BN ErEES) 2,400 2,400 0
=010t E X 2,400
SEARIZE RS ERADS 25,000 25,000
308 KHXIEHHI SOI 25,000 25,000
11 2O ASHHSBAH AL Y| 25,000 25,000
OSSARZRINNSB2ADS 25,000
HASZOAYRHSLNI RYTHENAAY 1,631,061 1,501,786 129,275
308 XHXISHAISOI R 1,631,061 1,501,786 129,275
01 RXISHBLSES 1,631,061 1,501,786 129,275
ORHASFUALLHRUR)|QUYLHRN
2 Ate! 1,631,061
BAS O AR 30,000 30,000 0
301 YBrEFEZ 30,000 30,000 0
03 ALS| 2R 452 (NLTHE) 30,000 0 30,000
mEPNS IO EESS= 10,000
REPOCIEYOEELEEES 20,000
SESTETIISEESS 3,870 3,870 0
203 YL =Y 3,870 3,870
REEEEES 3,870 3,870
mEES ENETEESS 3,870
22sAY=SSINALLSN 11,984,652 5,917,040 6,067,612
2 1,373,720
= 610,932
308 KXISHHI SOI® 11,984,652 5,917,040 6,067,612
2 11,373,720
= 610,932
01 RXISHBAZES 11,984,652 5,917,040 6,067,612
(225342 AL 11,984,652
2 11,373,720
= 610,932
S EEENE 2,881,49% 5,525,324 22,643,830
2 2,068,210
= 823,284
308 XHXISHAISOI R 2,881,4% 5,525,324 12,643,830
= 2,058,210
= 823,284
01 IR SHBARES 2,881,49% 5,525,324 £2,643,830
(22 LHIY @ 22 KA S X Y| X2 2,881,49%
2 2,058,210
= 823,284
CHOISTALSY (- IS EALY) 3,111,000 2,790,798 30,202
308 XHAISHAISOI R 3,111,000 2,790,798 300,202




A= SXA2= 2A 1 A== X1
M JIZMESH
Bel: MASHSAEItE =S (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e
01 AXIEHZAExS 3,111,000 2,790,798 320,202
C=0=TAE2Y 3,111,000
SNAX =22 XA 69,000 69,000
308 KXIHMSOIH 69,000 69,000
01 IXSHHBAEES 69,000 69,000
O=SXARIXHE=2GX& 69,000
DSAHHZ L 2| AIE AL 208,000 0 208,000
= 130,000
& 78,000
308 KXISHMSOIH 208,000 0 208,000
= 130,000
= 78,000
01 AXIEHZLAEXS 208,000 0 208,000
OOSAHOIZ 22 AIE ALY 208,000
= 130,000
& 78,000
o= a0 2CIALY 1,609,460 0 1,609,460
s 1,358,499
& 250,961
308 AXIHMISO0I & 1,609,460 0 1,609,460
s 1,358,499
& 250,961
01 AXIEHZAEES 1,609,460 0 1,609,460
Do S230A2MS (XA (ZESY) 1,609,460
s 1,358,499
& 250,961
XNSAZ =X AHI A2 S} 36,033,404 31,506,765 4,526,639
= 11,202,771
s 12,349,000
T 12,481,633
KNSASI S XA L =& 36,033,404 31,506,765 4,526,639
= 11,202,771
= 12,349,000
= 12,481,633
KN SALE AMEIAE XA 11,742,610 10,766,226 976,384
s 9,952,000
T 1,790,610
308 AXIHMSO0I& 11,742,610 10,766,226 976,384
s 9,952,000
= 1,790,610
01 AXEHILEES 11,742,610 10,766,226 976,384
OX S A MBI AEXAIS (ZEE8I) 11,742,610
s 9,952,000




D E=XNAYR
M2 XA =X

225t
Rl AIG AR SXIAE =

M 1 ARIEX

1t

=9 < (Srol: @)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH dEs Hnz=2
SHrTATSRE T == - 0] ap ot =®

| & 1,790,610

NS ALS| MHIA X 2 e 340,000 330,000 10,000
2 233,000
= 102,000

307 QI2H0| & 340,000 330,000 10,000
z 233,000
= 102,000

IEENNEEES 340,000 330,000 10,000
ORI M AT RiEte S (RS TH) 340,000
= 233,000
= 102,000

DHARPE S 2RI R ALY 2,198,318 2,084,246 114,072
2 1,900,000
= 298,318

308 KX A S0 2,198,318 2,084,246 114,072
2 1,900,000
= 298,318

01 RXSHHBAEXZ 2,198,318 2,084,246 114,072
OIS 2T A (ZS EHI) 2,198,318
z 1,900,000
= 298,318

HEDISAATRAI 303,856 292,300 11,556
= 259,000
= 44,856

308 X EHHI SO0 303,856 292,300 11,556
2 259,000
= 44,856

01 RXSHHBAEXZ 303,856 292,300 11,556
ORE0ISAURNBAL (BSEYL 303,856
z 259,000
= 44,856

X% ALSI MHI A B E A S o 129,310 127,179 2,131
= 9,517
= 3,793

307 212+01H 129,310 127,179 2,131
= 9,517
= 3,793

IREENNEEES 120,310 127,179 2,131
OIS ABI M AR A S o 129,310
= 9,517
= 3,79

APBIZ XA S S AR HI Q24 X & 907,599 893,279 14,320
= 635,319




D EAAE=
¢ NFAEI S X AHI A
© NGAEISXAIE F

A3t

M 1 ARIEX

1t

=t & EER-E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl r =e
& 272,280
307 gI2Hol M 907,599 893,279 14,320
= 635,319
& 272,280
11 Al =XAMEES 907,599 893,279 14,320
CALSI = XIAIE S AL HRI Q1 S X2 907,599
= 635,319
& 272,280
MEIE XA S S AR =S 257,040 247,440 9,600
308 RXISHMSOIH 257,040 247,440 9,600
01 AXIEHELAERS 257,040 247,440 9,600
OAt2I S XA E S AR =S 257,040
FHRAAE2E XA 12,587,143 9,165,756 3,421,387
= 8,811,000
& 3,776,143
308 AXIHMISO0I& 12,587,143 9,165,756 3,421,387
= 8,811,000
& 3,776,143
01 AXIEHBAEES 12,587,143 9,165,756 3,421,387
OEMRUANE 2SN A 12,587,143
= 8,811,000
= 3,776,143
UQQLANEIISEH 1,159,623 1,459,623 A300,000
= 1,122,787
T 36,836
403 XX SHHSA=01A 1,159,623 1,459,623 300,000
= 1,122,787
& 36,836
01 MHXISHHRE2ER 1,159,623 1,459,623 A300,000
OFAMQLEAIE) I sEL 1,159,623
= 1,122,787
& 36,836
QAL LA AUZX A 14,874 14,656 218
308 KXIHMSOIH 14,874 14,656 218
01 AXIEHEZLAERS 14,874 14,656 218
OEMUA LU TAE XA 14,874
HPREESHMURAAIEXHFUS 10,000 10,000
307 gI2Hol ™ 10,000 10,000
1 ARRI=EXNAIEE X 10,000 10,000
OHAE=HMEAEM=UH2 10,000
B2 A =XNESSE2332IXE 120,000 120,000
307 2I2+0l ™ 120,000 120,000 0




a2 =122 SN AISTID
& KA AMIISXAEIAZS
el XFAR S XA = (SH9 H2)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F g . 0l &2 =
10 AISIEXIAIEEE2IHHIEX 120,000 120,000 0
OFA=SEAIEEXNESSE233I2E X 120,000
AMSSXAIEEHEBAIAR NS 6,000 5,700 300
307 S1ZH0| & 6,000 5,700 300
11 AISISAIAIREEX 6,000 5,700 300
CIASISXAEEBAIAENR 6,000
A SXAIESAIAE 21 72,000 40,000 32,000
307 QIZtoI ™ 72,000 40,000 32,000
11 ASISAAIEE X 72,000 40,000 32,000
COOAIEIZ2XAIESAINE 21U E 72,000
AMAESCAISEXE oS 2E XS 463,711 180,000 283,711
307 2I2t01 ™ 463,711 180,000 283,711
03 IZIHXEE2IHIE X 463,711 180,000 283,711
OF3ASEAISESXE2F A XA 463,711
INCIE=PNES = E=LPN 30,000 0 30,000
307 2I2t0|™ 30,000 30,000
11 ASISAIAIREEX 30,000 30,000
CIAISI X oL AL 30,000
B=EXS A S X AFA &S] 96,000 94,000 2,000
307 QIZtoI ™ 76,000 94,000 18,000
11 AISIEXAIEE X 76,000 94,000 A 18,000
=X EASSKIAFAES] 12,000
OZ=XNSAE=EXNAMESNS 64,000
308 AXIHHSOIA 20,000 20,000
01 AIXHMBAMEEZ 20,000 20,000
OFM=EAMISEXAINZUE 20,000
SMSTASEXCICIAMHSH 150,000 130,000 20,000
307 QIZt01™ 150,000 130,000 20,000
05 012t &2 150,000 130,000 20,000
OEM=EAMISKCIIHMEHESH 150,000
M EXNEZHEH2S 20,000 150,000 A 130,000
307 2I2t01 ™ 20,000 150,000 A 130,000
11 AISIEXIAIEE X 20,000 150,000 130,000
OAMSISEXEEHdEHZY 20,000
BAESCAESERAEEHES 35,000 50,000 A 15,000
307 21Z2H0| & 35,000 50,000 A 15,000
11 AISISAAIEEX 35,000 50,000 15,000
OF3A=SCAISSSXJANMEHES 35,000
EZ20| S A XA 20,260 20,260 0
307 QIZt01™ 3,260 3,260
11 ASISAAIREE X 3,260 3,260




A= SXAZ= SA ARSI
33 NFARI =X A A2 3
Elr XA S XA =2 (SH9 H2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HIRE2
OE20IZSAE2E 3,260
308 AXIMSOIA 17,000 17,000
01 HHHBAEES 17,000 17,000
OE20IZSAIE X2 17,000
A2l S X2t S ALXEAIOILE 10,000 0 10,000
307 212+01& 10,000 10,000
11 AL SXIAIEE X 10,000 10,000
LIALS| S RI 2SS ALRAIDILE 10,000
AMBIZXAEUANHEE S XA 245,770 245,770 0
301 LENEZ 245,770 245,770 0
02 MBI 2HHSFHS(HAANS, XLHE) 245,770 0 245,770
COMEISRAE Y AT Z R 245,770
A2l S X2 S5HAL 90,000 90,000
308 AXIMSOIA 90,000 90,000
01 AXHHBAELS 90,000 90,000
LAl S X2 E3HAH 90,000
AP S X2 Atei 2t el AL2 E K12 270,000 270,000 0
308 AXIHMSO0IA 270,000 270,000
01 XN B EES 270,000 270,000
OAtSI SR 2tAte 22l AL2 S X 270,000
ST AR EN S 2AAY AR EA 50,000 0 50,000
207 ARl 50,000 50,000
01 H1E4H] 50,000 50,000
OZ&4=EAME =R 2AHEIIE2HE~E A
P 50,000
IR;EINH2Z(EH) 2,492,000 2,500,760 8,760
306 =2 1,800,000 1,800,000 0
01 £g= 1,800,000 1,800,000 0
L= HE =S 1,800,000
308 AHXIHMSO0IA 692,000 700,760 28,760
11 S 2SS & AET AL 692,000 700,760 28,760
O2A=SRNFHHAR 400,000
COAtEIMHIASE 24 80,000
JEdLs2S 95,000
DA S XA EHEAR NS 100,000
OAMEISAEALAIEE A= 17,000
2SS0 I=sE2E 17,400 16,200 1,200
201 L2 17,400 16,200 1,200
01 At22t2lt] 12,600 11,400 1,200
Ogx= 12,600
OZ=2=XS0D|ISsE AR 12,600
02 324l 4,800 4,800 0




A= SXAZ= SA ARSI
33 NFARI =X A A2 3
Elr XA S XA =2 (SH9 H2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HimE==T
Ot e 4,800
OZ==XS0DISE SR XIHI 4,800
A S XIS K2 15,000 0 15,000
308 XXM SOIA 15,000 15,000
01 AXEHH B ELES 15,000 15,000
OAteI =R AI S 15,000
AN SXNFHRESSPRAY 2,000 2,000 0
303 Zat=2 2,000 2,000
01 Z&Z 2,000 2,000
MBI SAFERESSRE A 2,000
KNS A 2 M2 S X 138,000 397,000 A259,000
308 AXIHSOIA 138,000 115,000 23,000
01 XN BSELS 138,000 115,000 23,000
OXS AR 2ZE M- 22 138,000
XIS AL 2 &S O MK < THE] K& 26,000 28,000 22,000
= 13,000
< 13,000
308 XtXIEME0IH 26,000 28,000 22,000
= 13,000
< 13,000
01 HXSHH B EES 26,000 28,000 £2,000
OXS A 2 E A MK S TS X2 26,000
= 13,000
< 13,000
HOPt=d=SEAAMNEZSE 691,280 0 691,280
= 330,148
< 361,132
307 2I2to1 ™ 691,280 0 691,280
= 330,148
< 361,132
PPN RS 691,280 0 691,280
O oPt=disE A2 691,280
= 330,148
< 361,132
XHopt=g=aAA2S (RHH) 11,000 0 11,000
402 QIZERHZ01H 11,000 11,000
01 QI X2 AL E R (KEHITH) 11,000 11,000
O opt=g8iSAHAH S SPCE 11,000
NI AR RSPy 100,000 0 100,000
307 2IZto1 ™ 30,000 30,000
02 2IZHBAMAHEE 30,000 30,000
OAtEI SR A2 E 5t 30,000




A= SXAZ= SA ARSI
33 NFARI =X A A2 3
Elr XA S XA =2 (SH9 H2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HimE==T
308 XXM SOl 70,000 70,000
01 XN BELES 70,000 70,000
OAIZ AR S XIS e 5t 70,000
KSABISXIAIS = 149,610 331,870 N 182,260
201 er2 3| 118,000 131,000 13,000
01 AtR2t2ll 118,000 128,600 10,600
g ets=ZH| 100,000
OMBIESXHHES 100,000
U=g=¢ 18,000
OXS At 222 2P d =2 X0l 8,000
OAISISXIAIEEIt2I 22 O] 10,000
203 BR=&H] 11,610 30,870 19,260
03 A= AR =] 11,610 30,870 219,260
OXGARI SR M ASSHRFA 11,610
207 ARl 20,000 110,000 A90,000
01 H2E4HI 20,000 110,000 A90,000
OX M EZHAREH =+ 20,000
S 0IZAESKIXE 714,000 990,000 A276,000
308 AXIHSOIA 714,000 990,000 2276,000
01 XN BSELS 414,000 690,000 A276,000
OAIZ0IZAMESRIXEHHXIA 414,000
11 SI[2SOHE & EAS A 300,000 300,000 0
US4 =Z0IZAMESAXZLEHTA 300,000
S EHUHANAMIIEETA 18,000 18,000
308 KtXIEMSO0IH 18,000 18,000
11 S [2S0 e YA AS A 18,000 18,000
(2 S2AEUHATAIZI Z R 18,000
FOIMEAH OSSN AH A LS 130,000 130,000 0
= 100,000
[ 30,000
308 AHXIEMSOIH 130,000 130,000 0
= 100,000
[ 30,000
01 AXHHN B EES 130,000 130,000 0
Ol dEs oSS AH A A3t 130,000
= 100,000
< 30,000
A 2ESEXNEAAXH 200,000 300,000 100,000
= 100,000
< 100,000
308 AHXIEMSOIH 200,000 300,000 100,000
= 100,000
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O=SAAMENIAMBIAZEASLUF 18,000
O=Q=SAANE2EI2HHARA 21,600
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LZAE 2SN (1A D EALD) 8,321,000 8,723,053 402,053
308 AXIHSO0IA 8,321,000 8,723,053 N402,053
01 HXHHBAEES 8,321,000 8,723,053 402,053
OeZAL2EXE 8,321,000
AH2LIHI(HZ ST 103,089 98,618 4,47
- 14,414
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el 2| 37,729 37,118 611
= 14,414
[ 23,315
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= 281,160,243
Il 97,714
& 69,771,908
ES{U RElEE NSRS 350,976,685 322,286,279 28,690,406
= 281,160,243
2l 97,714
= 69,718,728
ES{U el ol e SN 219,571,298 196,522,421 23,048,877
= 190,298,780
== 29,272,518
eS{U Reliea = AT 71,842,193 69,793,601 2,048,592
= 63,657,639
< 8,184,554
308 XXM SOl 71,842,193 69,793,601 2,048,592
= 63,657,639
< 8,184,554
01 MBS Ex= 71,842,193 69,793,601 2,048,592
OEAHS KA 71,842,193
= 63,657,639
< 8,184,554
=X (IIx) 1,722,767 7,016,831 4,705,936
= 10,387,262
=S 1,335,506
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= 10,387,262
& 1,335,506
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= 5,685,467
5 730,989
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= 5,685,467
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&0l o|2HI K& 2,524,217
= 2,348,109
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ORI AR DI K& 94,037 81,414 12,623
= 87,476
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= 87,476
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= 87,476
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= 30,576
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= 30,576
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ZOHCIAHIAIZ A0 EE2 XA 69,677 82,154 N12,477
= 61,740
& 7,937
308 XAXIHHSOIA 69,677 82,154 N12,477
= 61,740
c 7,937
01 AIXHMBAMEEZ 69,677 82,154 N12,477
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= 61,740
o= 7,937
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= 91,033,972
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&2l HOHUSKIX & (EEEE))
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2

OZ I M= H]| 50,000
294 7,000
OFMI=EXARRSE XL HH] 7,000
203 R =&IH| 4,320 4,320
03 AIHF=RIHARE=KIH| 4,320 4,320

CIEOHRIE XA R =X 4,320

ZONOISIIE XA E THE MHIA 7,843,752 6,578,172 1,265,580
= 6,950, 160
o= 893,592

308 AXIHHSOIA 7,843,752 6,578,172 1,265,580
= 6,950, 160
= 893,592

01 AIXHMEANEEZ 7,843,752 6,578,172 1,265,580
OIS THE HMHIA 7,843,752
= 6,950, 160
& 893,592

ZOHOIELZE X 4,407,799 2,351,241 2,056,558
= 3,085,430
= 1,322,369

307 21Z2t0| ™ 4,407,799 2,351,241 2,056,558
= 3,085,430
< 1,322,369

11 AISIS XA EX 4,407,799 2,351,241 2,056,558
O&EOPIEL=XA 4,407,799
= 3,085,430
= 1,322,369

AHEE R 41,325 49,939 N8,614
= 36,617
& 4,708
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= 4,708
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OAHEEXR 41,325
= 36,617
= 4,708

SEENISSZ=ALIE XA 199,500 103,750 95,750
= 159,600
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308 AXIHHMSOIA 199,500 0 199,500
= 159,600
& 39,900
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2 =Z2RHAU2 M BOHI=SX 0t

H: ZOHI=XSA

‘;;ii SO HM L ALK (SH9 H2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HimE==T
D= H 23X ALY 15,000
OXHE 0 HES AL 30,000
OXIM E 0 S XK 2 A 70,000
OSSN s| S A5t 20,000
ORI ZHOHQI TH & & S AR 30,000
D=l X2 A 130,000
O NSNS A2 3AY 150,000
O=eld A S A 20,000
OMEIDUELALRS 20,000
OSAEEHI SE A E A 30,000
U= =S 0HQ M EH O X2 AL 230,000
ORI E 0 SE At 2 el At 117,000
OSBRI AL SHEI ST ALY 20,000
O=XHZ0HASRIX A 60,000
LuSA DI THE K AL 50,000
ZOHI ELMI ALK 2 136,000 103,600 32,400
307 2I2t01 133,000 100,600 32,400
1 ARRISXIAISE X 133,000 100,600 32,400
OEMASXAIZ0I2E 0SB E0HE 5,000
OEXZ012/ LI E AL E IS XIS 20,000
Osotelelgligaxi 20,000
OIS XAIES AL S =2 10,000
OXIAME LIS A 20,000
O&oHerelgligal X 30,000
A& EI1H0HQI AL LICHALE 8,000
O RR2HUHX A T2 AL 10,000
OX3sIZ S SuRH3 10,000
308 AtXIEMSOIE 3,000 3,000
01 AXHHN B EES 3,000 3,000
O RZ2TUZ 3,000
ool 2t S K2 50,000 50,000 0
307 2Itold 50,000 50,000
PN PANE=ES 50,000 50,000
P I == DB LI PN L 20,000
O Ml=AE X2 30,000
HIZHISZIIUE X (B XIR) 230,000 0 230,000
308 AtXIEMSOIE 230,000 0 230,000
11 S| 2S04 ASAIE 230,000 0 230,000
OE=F00 s3I I X2 230,000
ZOHISXIAIE XA 89,278,738 83,644,926 5,633,812
= 63,714,465
Jl 97,714
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RS LR
W E=F
L HOHRI= XA &K

A 2A - B . HA(SH) - HIRAIY - BES (1;| Palgely OE:IE& Hlwsz
COEMCIHFAEI I SES 1,110,279
= 653,105
T 457,174
O HFAIE 2GR 2 (KIH) 68,905,012 66,135,706 2,769,306
= 61,005,074
& 7,849,938
308 AXISHMSOIA 68,905,012 66,135,706 2,769,306
= 61,055,074
& 7,849,938
01 XX SHNBAEERZ 68,905,012 66,135,706 2,769,306
COEOIHFAILZ2 S 68,905,012
= 61,055,074
T 7,849,938
ZOHIHFAIE 2 (BIIFEIREXRH) 40,674 40,104 570
= 33,892
[ 6,782
308 AXISHMSOIA 40,674 40,104 570
= 33,892
& 6,782
01 AXESHHZAEEZ 40,674 40,104 570
OZOHRIANFAIE 2L (SIIFHIIEEXH) 40,674
= 33,892
& 6,782
ZOCISXIAESAI RS 1,574,4% 1,477,600 %,8%
308 AXISHMSOIN 1,574,4% 1,477,600 %,8%
01 AIXISHNBAEES 1,574,4% 1,477,600 %,8%
OIS XAIE S A RS 1,574,49%
QI =B SAIED I SEY 27,09 0 27,09
= 15,939
& 11,157
403 REXISHHIS K201 & 27,096 0 27,096
= 15,939
& 11,157
01 XN AE2ER 27,096 0 27,096
OFHI=2ES A I SEL 27,096
= 15,939
T 11,157
ORI XIS ALSI THEIA I E 2 Y 8,522,674 7,846,417 676,257
307 QI2H01 & 1,680,000 1,630,000 50,000
10 Al S XA EEER2IHIE X 1,680,000 1,630,000 50,000
OZa=sCHIsSE=sX22Y 1,680,000
308 AXISHMSO0IA 6,842,674 6,166,417 676,257




2 =Z2RHAU2 M BOHI=SX 0t

F: Foje=snsa

‘;9;2 OIS X AL XA (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

01 AXIEHZAExS 5,782,674 5,156,417 626,257
OAIZE I S =X22A 280,000
OB AZEHI=X22Y 751,769
eI ESAIE2H 1,603,940
OIS THEAIE2Z 226,000
OZ=ENEM22SE 139,000
Ol =SHEH2SE 1,204,874
OSSEMHAXE X 2HEHSSH 395,000
OEOHI ME 0| SKRMEH2 S 1,182,001

11 SISO E & A PE A 1,060,000 1,010,000 50,000
OZA=CHdEHMI=EX22Y 1,060,000

QIAEGHIIHZOHI B2 174,680 169,170 5,510
= 87,340
& 87,340

307 QI2Hol M 174,680 169, 170 5,510
= 87,340
& 87,340

10 Al SEXAEHE2EHIEX 174,680 169,170 5,510
QI A EGHIIHEOHQI HEH 2SS 174,680
= 87,340
& 87,340

NG ZEHelHUSSI 22 229,100 206,652 22,448
= 104,550
= 124,550

307 QI2Hol A 229,100 206,652 22,448
= 104,550
T 124,550

10 AlSISEXAEHE2EHIEX 229,100 206,652 22,448
OXSFEM A SSI |22 229,100
= 104,550
& 124,550

SSZHA XM (IL) 2L XIR (XEA) 46,000 46,000 0

308 AXIHMISO0I& 46,000 46,000
01 AXIEHZAEES 46,000 46,000

OSSN AZME(IL)2SXI2 (XHAI) 46,000

HATHEHASSMEZZDH2IXA 118,653 125,679 27,026
| 97,714
& 20,939

308 REXIHMSOIH 118,653 125,679 27,026
| 97,714
& 20,939

01 XN BAELS 118,653 125,679 A7,026




A= SXA2= 2A  Hoels Xt
M HOHI=XST
el JOI=SXIAIEXH (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OGS HEEASSMEZZ2 OS2I R A
A 118,653
| 97,714
T 20,939
XS EHIBHASHE X2 (FAEE) 540,172 527,626 12,546
= 270,086
& 270,086
307 2I2+01™ 540,172 527,626 12,546
= 270,086
& 270,086
02 QIRHEAAIH B X 540,172 527,626 12,546
OXS S BAHRZHMEH2 G (FAEX) 540,172
= 270,086
= 270,086
HOHRISHAHSOI MK (B AEX) 150,000 0 150,000
= 75,000
& 75,000
307 gIzHol ™ 150,000 0 150,000
= 75,000
& 75,000
02 QIRHEAAIHEE X 150,000 0 150,000
OEOHE SHAROI N2 SA 150,000
= 75,000
= 75,000
ZEZMHIIESSSEESEHHAE 2,000,000 0 2,000,000
= 1,000,000
T 1,000,000
401 AIEHIZ 28I 2,000,000 0 2,000,000
= 1,000,000
T 1,000,000
01 AlEHI 1,845,000 0 1,845,000
OZSZHMIIES = HHHAEY 1,845,000
= 922,500
& 922,500
02 2eldl 150,000 0 150,000
OZESHMIIESSE =2 dHAE 150,000
= 75,000
& 75,000
03 Al S CHHI 5,000 0 5,000
OE=SZMIIESSE=e2ddHHE 5,000
= 2,500
& 2,500
ZOHIAHF=AILCIKIE S S AL 9,492 0 9,492




2 =Z2RHAU2 M BOHI=SX 0t

F: Foje=snsa

‘;9;2 ZOI =X AL XA (SH9 H2)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = 945 . 0l & =
= 8,410
= 1,082
308 XAXIHHES0IA 9,492 0 9,492
= 8,410
< 1,082
01 AIXHMBAMEEZ 9,492 0 9,492
O HFAILC N E =S A 9,492
= 8,410
= 1,082
HMSAAH| (NI X 1) 53,180 49,320 3,860
Jl2&t| 53,180 49,320 3,860
J|l2&h| 53,180 49,320 3,860
201 LBt AH| 20,280 18,720 1,560
01 AFR22telH| 20,280 18,720 1,560
Ost~2H| 7,800
OANREEL=E L] 4,800
OLARBREASFHI 3,000
mEE 12,480
OYRFAZAH| 12,480
202 04| 29,900 27,600 2,300
01 2| 29,900 27,600 2,300
O RF=E0H| 29,900
203 R =&IH| 3,000 3,000
04 EASHAH 2= 3,000 3,000

115 0lat 3,000
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= SXHL= D
HH: BAOZMHIADIBIRE
chel: BHAS MHIAESAISY (SH9 H2)
AR RA - ZB . B(S) - MRAY - B Ofl by A HImES
201 Let=dh] 39,000 39,000
01 AlR2teldl 39,000 39,000
Lget=+Sy| 3,000
OSEEHAANARN=WTH 3,000
U&= 36,000
OSSEAHANANRUF(EY) 36,000
SSEAISNC=2S 131,200 69,600 61,600
= 65,600
< 65,600
301 LetE2AZ 131,200 69,600 61,600
= 65,600
< 65,600
04 Feisstis 131,200 69,600 61,600
OS2 A0 EsH 131,200
= 65,600
< 65,600
BSUSAMHE2Y 80,000 0 80,000
307 e12+old 80,000 80,000
02 QB A HE 80,000 80,000
O3S2USMHE2Y 80,000
felelzsSAEsSXI 100,000 0 100,000
307 212+0l1d 100,000 100,000
02 LB HAHE X 100,000 100,000
Loz SAESAIEH 100,000
sSHEASMHIANE ALY 2,698,208 8,857,231 16,159,028
z 2,158,557
< 539,646
403 MXISHHSK=01H 2,698,208 8,857,231 16,159,028
= 2,158,557
< 539,646
01 XIXISHX=2EE 2,698,203 8,857,231 16,159,028
O=sHEASMUIANEML (ZSES L) 2,698,203
= 2,158,557
< 539,646
Q=R 2NEAZ R 35,714 35,714 0
= 25,000
< 10,714
307 2I2+01& 35,714 3b,714 0
= 25,000
< 10,714
01 =2+ 35,714 35,714 0
=022 Xs 35,714




L =XAY=

Mz HAHOIZAHIAD|BIR=
©el: BAAS MHIASSAIY (Gt H2)
AR SN - B . 09 (3H) - NRAY - B2 ofl b dE= TmE=EY
d=- 74 358 = 45 . 0l & s
= 25,000
= 10,714
Ol F AKX AR 2H 211,087 277,022 65,935
rag 162,375
= 48,712
308 AXIHHSOIA 211,087 277,022 65,935
ras 162,375
& 48,712
01 JXISHMEAEEZ 211,087 277,022 65,935
(O SFAXAHSEENSH(DETY) 211,087
g 162,375
& 48,712
FHEo|2otNMAUNE 189,000 189,000
307 21Z2to| ™ 189,000 189,000
02 QIZFBAMAIRE X 189,000 189,000
OFSHS SN 189,000
FOPI=H=EHRARH 470,000 270,000 200,000
307 S1ZH0| & 270,000 270,000 0
02 OIZIEAAIH B X 270,000 270,000 0
OROP=H=sY"HAS2H 270,000
402 SIZHXHE01 A 200,000 200,000
01 CIZIXIE A E X (KA THS) 200,000 200,000
OOPDI=st=SHJARY|IB 2 200,000
P I=ARoI 2N 140,000 113,000 27,000
307 21Z2t0| ™ 140,000 113,000 27,000
02 QIZFBAMAIRE X 140,000 113,000 27,000
OO0l 2y 140,000
=S RS ME0INEH 600,000 600,000 0
ra 300,000
& 300,000
307 S1Zto| & 600,000 600,000 0
g 300,000
& 300,000
02 QIZFEAMAIHE X 600,000 600,000 0
(=g S AR NRA(ZESTY) 600,000
= 300,000
= 300,000
SOF AT AMEoIN2H 2,775,000 2,080,000 695,000
rag 1,850,000
= 925,000
308 AXIHHSOIA 2,775,000 2,080,000 695,000
ras 1,850,000




L =XAY=

M BHO g AMHIAD|IBIRE
chel: BHAS MHIAESAISY (SH9 H2)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2
< 925,000
01 MASHBaExS 2,775,000 2,080,000 695,000
O AXMRIN2S (DSSLY) 2,775,000
z 1,850,000
< 925,000
Sasles PN BN S el i e 60,000 60,000 0
308 ARISHMSOIE 60,000 60,000
01 MASHBSExXS 60,000 60,000
U= efX e sl itz 60,000
QISHAXAOIEAE DA 375,000 325,000 50,000
fas 250,000
< 125,000
308 ARISHMSOIH 375,000 325,000 50,000
z 250,000
< 125,000
01 AXEHH B EES 375,000 325,000 50,000
O2ASHAXNAOEAEHN2H(DSSY) 375,000
z 250,000
< 125,000
QS FAAASAFLRS 300,000 130,000 170,000
= 200,000
< 100,000
308 AXIHMSOIA 300,000 130,000 170,000
fas 200,000
< 100,000
01 MASHBaEx= 300,000 130,000 170,000
CREFHAX S L2SE(DSSTY) 300,000
z 200,000
< 100,000
DRLHge 2|l s 2 44,362 44,362
101 2124 44,362 44,362
04 M2 2 RS2+ 44,362 44,362
OR2LHoE K22 44,362
(OFIE = 76,9603 2 *130& 20,010
Oaltl 6,000 =2 *1302! 1,560
Onstl 3,000 x2E * 130! 780
Oxg=z2=+g 115,440 2 18 4,156
ooRtzz=¢
9,620 »50%+80AI 2«2 H 62 4,618
oudzz=g
115, 4403 2 18 <3AI 2+ 12,468
Oext=g 76,9603 x2H+5 770
ARIXIZHIXIE (WX =) 469,000 0 469,000
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2 RA - I O9(E) - HRAY - BES of vy A

| Dagcsmwa) 20,000

XA ALS| SEA LB AR ( 286,000 286,000
Il 143,000
& 143,000

201 L= 4,000 4,000
Jl 2,000
== 2,000

01 AFS2t2ltl 4,000 4,000
g et+=ZH| 4,000
OXISAtel St 4,000
J| 2,000
S 2,000

307 elzto| & 282,000 282,000
Il 141,000
= 141,000

05 git?(& = 282,000 282,000
LRSI SEMNSANAHZS 282,000
Jl 141,000
== 141,000

NAMNE SEHLSEAI (X 8,158,2%6 8,114,291
J| 6,275,612
S 1,882,684

308 AtXIEMSOIH 8,158,296 8,114,291
Il 6,275,612
[ 1,882,684

01 MK N ELS 8,158,296 8,114,291
OXNS AR SEALS A 8,158,296
Il 6,275,612
= 1,882,684
HAL=HIOEHHABEZHEZTALS 300,000
308 AHXIHMS0IA 300,000
11 S [2S0 e 4 A AS A 300,000
(A =FI0EAH EIZ M EF T ALY 300,000

KIS A2 242 AL 1,099,378 1,099,378
Il 845,675
= 253,703

308 AHXIEMSOIH 1,099,378 1,099,378
Il 845,675
= 253,703

01 X SHHBAEXS 1,099,378 1,099,378
DX S A2 AZ A 1,099,378
Jl 845,675




a2 =x2Au= S RN E-Eh!
A HMAHAZAZ M AHTAS
el HBREE AN (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HmE2
a=-FM-3%-8 o 8= = ofl &b S2
| & 253,703
KNS AIS A=Y TALALS 15,000 15,000 0
307 S1Zto| ™ 15,000 15,000
05 QIZIRIE= 15,000 15,000
OHASEXGAIS AL TAISH B L2t 15,000
StEA A2 AIS 3,426,754 3,378,475 48,279
g 2,635,964
c 790,790
308 AXIHHSOIA 3,426,754 3,378,475 48,279
hay 2,635,964
== 790,790
01 AIXHMBAMEEZ 3,426,754 3,378,475 48,279
(JSHUZACIANL (ZESTY) 3,426,754
ras 2,635,964
& 790,790
SR AU 2 AP (KA 22,500 22,500 0
308 AXISHHSOIA 22,500 22,500
01 AIXISHHMEAEXRZS 22,500 22,500
g2l Al 22,500
AlloTI|BFH EA AL 22| ALY 1,251,338 1,042,984 208,354
hay 962,568
o= 288,770
308 AXIHHSOIA 1,251,338 1,042,984 208,354
ra 962,568
& 288,770
01 JXISHMBAEEZ 1,251,338 1,042,984 208,354
CIAIoTI|BH 2 A AL ZHIAIE (ZES S 1,251,338
g 962,568
& 288,770
DHILEAA O 907,481 702,447 205,034
J| 698,068
< 209,413
308 AXIHHSOIA 907,481 702,447 205,034
J| 698,068
= 209,413
01 AIXHMBAEEZ 907,481 702,447 205,034
(8 AHADHIAS AN AL 907,481
J| 698,068
& 209,413
ADAMOIA 22| X R (2-1SHH E EHALS ) 6,697,600 6,701,080 N3,480
308 XAXIHHSOIA 6,697,600 6,701,080 N3,480
01 AIXISHHMEAEXRZS 6,697,600 6,701,080 N3,480




222 =R
MRA2 BRI H S
AdLEE A A (SH9 H2)
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
| Dazagopiea 6,697,600
AR plgorigREIX 3,779,249 5,104,732 A1,325,483
308 XIXISHAIS0IH 3,779,249 5,104,732 1,325,483
01 XXISHHIZ A 3,779,249 5,104,732 A1,325,483
AR A0 2RI T /AR =0
E 3,779,249
NCNEENEEVEENES=) 120,300 124,000 A3,700
| 60, 150
= 60, 150
307 212+01 M 120,300 124,000 A3,700
| 60, 150
= 60, 150
05 QI2tlEra 120,300 0 120,300
EEEPEVIETES 120,300
| 60, 150
= 60, 150
NENEENETERTENOE]) 4,170,192 4,297,890 A127,698
| 3,207,840
= 962,352
308 XX/ EHHISOI A 4,170,192 4,297,890 A127,6%8
| 3,207,840
= 92,35
O KXt Z AR 4,170,192 4,297,890 A127,6%8
EE W R 4,170,192
| 3,207,840
= 92,352
HASESHXI RN 261,700 315,568 53,888
| 261,700
308 XXIEHHISOI A 261,700 315,568 53,888
| 261,700
11 2IRS st 261,700 315,568 53,888
OHASE3X 261,700
| 261,700
2zesxlEeINe 480,000 440,000 40,000
308 XHXISHAISO0IH 480,000 440,000 40,000
01 XX SHHBA 2 ZE 480,000 440,000 40,000
O224=Z2 2 2SN (FUE0) 480,000
DTS ZREXN (NLLSUSII2) 1,000,000 0 1,000,000
g 1,000,000
403 XHXI EHAI S Rh 2 1,000,000 0 1,000,000
g 1,000,000
01 XIXIEHHI K22 1,000,000 0 1,000,000
O334sz2g 1,000,000




A= =AY SN BAZMY
3 YA ANATAS
el HBREE AN (SH9 H2)
A= 24 - Z3H - GHA(E) - MFAY - BES Ofl &2y OE:IE& ] ImE=r",
| ] 1,000,000
2AEAAS 1,213,325 1,425,200 A211,875
307 212t01 & 40,000 40,000 0
02 QI B A E A 40,000 40,000 0
Letelf SR X2 40,000
308 XXM SOIA 1,173,325 1,372,000 198,675
01 MASHBSEXS 71,325 72,000 NB75
OMAHOIA = SHIXI A 71,325
N S| 2SHUSHE SEAS AN 1,102,000 1,300,000 198,000
OEM=otF=XE 1,102,000
LSS XA (-1 A EALY) 2,315,300 1,470,240 845,060
308 AXIHHSOIA 2,315,300 1,470,240 845,060
01 HAHHBLEXRS 2,315,300 1,470,240 845,060
OHEEEXE 2,315,300
HA R U2 564,000 0 564,000
308 XXM SOIA 564,000 564,000
01 MASHBSExXS 564,000 564,000
LS SSUAE 564,000
HUH0|IEAXNEH 17,706,200 20,682,100 22,975,900
= 15,854,000
& 1,862,200
308 AHAIEMSOIE 17,706,200 20,682,100 A2,975,900
= 15,854,000
= 1,852,200
01 HAHHBSExRS 17,706,200 20,682,100 A2,975,900
OXREHO0IZSHAIA 17,706,200
= 15,854,000
T 1,852,200
DXEAHAIHE I 53,332 53,332 0
Jl 41,025
= 12,307
308 AXIHSOIA 53,332 53,332 0
) 41,025
& 12,307
01 XN B EAES 53,332 53,332 0
U2 EAANHE 01| 53,332
Il 41,025
= 12,307
HEDANEAH=F XA 12,409 13,910 1,501
Jl 9,545
= 2,864
308 XXM SO0l 12,409 13,910 21,501




A= SXA2= 2A ¢ EAZ
Y BMALZEMAHRS
el HBREE AN (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
| 9,545
= 2,864
01 AXIEHZLAEXS 12,409 13,910 21,501
OEESNEHEHXA 12,409
| 9,545
& 2,864
HAAMBOZH|I K& 37,440 42,900 25,460
| 28,800
& 8,640
308 AXIHMISO0I& 37,440 42,900 Ab,460
| 28,800
& 8,640
01 AXIEHZAEES 37,440 42,900 25,460
OEAEAM29ZHIXIA 37,440
| 28,800
& 8,640
DREYMROSHIXA 224,900 237,900 213,000
| 173,000
& 51,900
308 AXIHMSO0I& 224,900 237,900 A 13,000
| 173,000
& 51,900
01 AXIEHBLEES 224,900 237,900 A 13,000
OSSR ZHIXIA 224,900
| 173,000
& 51,900
HYRESAEEH2I XA 238,000 238,000 0
| 119,000
& 119,000
307 gI2Hol 238,000 238,000 0
| 119,000
& 119,000
02 QIZHBAAIH E X 238,000 238,000 0
OHY =S UH2E XA 238,000
| 119,000
& 119,000
tE oS RAHAMEHZ2E XA 100,000 432,000 A332,000
307 QI2H0| A 100,000 171,000 271,000
02 QIRHEAAIHE B = 100,000 171,000 A71,000
oSO JHAMH2I X2 100,000
MOH=D[H L 2| AIE AL 492,050 446,680 45,370
| 378,500
& 113,550




B SN BAYH
T PUAAVRHADE
s AL EEACIAEY (Cre|: ®M2)
A (=] X ol (3 (=] E-Ill‘jE =
AR 2A - B O9(33) - MRAY - BYS 01l & il tor RS2
308 XXM SOl 492,050 446,680 45,370
Jl 378,500
== 113,550
01 XN BSELS 492,050 446,680 45,370
=1 A2 AIE A 492,050
) 378,500
S 113,550
D=0t H A S0l A0t 22X~ 146,900 214,500 A\67,600
Jl 113,000
= 33,900
308 XXM SOIA 146,900 214,500 A\67,600
Jl 113,000
=S 33,900
01 XN BSELES 146,900 214,500 A\67,600
CI0I%5019 &8 &40/ 4012 26| K| 2 146,900
Jl 113,000
& 33,900
SHLUAIOI S B ALK &H0t2ke| 166,400 171,600 A5,200
Il 128,000
= 38,400
308 AFAIEHMSOIE 166,400 171,600 A5,200
7l 128,000
= 38,400
01 AXEH B2 LS 166,400 171,600 A5,200
D S OHATOI &2 AL E O 22 166,400
Il 128,000
== 38,400
HE R A 26,000 37,700 A11,700
) 20,000
= 6,000
308 AHAIEHMSOIE 26,000 37,700 A11,700
Il 20,000
= 6,000
01 XN EES 26,000 37,700 A11,700
== EPIFSIs, 26,000
7l 20,000
= 6,000
SROIELTNE LB AMEIXIZ 44,216 42,696 1,520
Il 44,216
308 AFAIEHMSOIH 44,216 42,696 1,520
7l 44,216
01 HAHHBSEEXS 44,216 42,696 1,520
ORI LS B H L AIXI 44,216




ol vy

HMEE
Ofl &k2h

J|

44,216

Il

35,112
35,112

32,715

2,397

Il

35,112
35,112

32,715

2,397

J|

35,112
35,112
35,112

32,715

2,397

Il

24,000
24,000

25,000

21,000

Il

24,000
24,000

25,000

21,000

J|

24,000
24,000
24,000

25,000

21,000

J|

378,747
318,747

398,217

N19,470

Il

318,747
378,747

398,217

19,470

318,747
318,747
378,747

398,217

19,470

Mo

2,730,000
2,100,000
630,000

1,996,020

733,980

noH

2,730,000
2,100,000
630,000

1,996,020

733,980

o

2,730,000
2,730,000
2,100,000

630,000

1,996,020

733,980

Mo

243,615
187,39%6
56,219

243,029

586

Mo

243,615
187,3%
56,219

243,029

586

mhoH

243,615
243,615
187,3%

56,219

243,029

586




SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
t2el(HE) 255,000 263,000 8,000
102,000
153,000
307 el2to| & 255,000 263,000 28,000
102,000
163,000
02 QIZtEHAEE X 255,000 263,000 28,000
OXS2HE XA 130,000
52,000
78,000
OgMENSSAXLE XIS 125,000
50,000
75,000
202l (XI) 3,160,300 3,192,800 A32,500
2,431,000
729,300
308 AtXIEMSOIE 3,160,300 3,192,800 A32,500
2,431,000
729,300
01 XN B EERS 3,160,300 3,192,800 A32,500
OMASESLZHIXSA 3,160,300
2,431,000
= 729,300
ST A (- 1S HH ZALY) 2,810,600 2,810,571 29
308 AHXIEMSOIH 2,810,600 2,810,571 2
01 HXEHH B EES 2,810,600 2,810,571 29
Oetiel=gl A 2,684,500
OOt At2tel 126,100
SS2ASMHIAINE AL 500,000 0 500,000
403 AXIEHHSA=201E 500,000 500,000
01 AXEHM A =2 £ 500,000 500,000
OZS2AS MEIAN S ALY 500,000
ESHAZZMNLER 50,000 50,000
201 er23 | 50,000 50,000
01 At2teltl 50,000 50,000
eS| 50,000
O ESHYZTZMUYER 50,000
gaEESHLA 30,000 30,000 0
308 AtXIEMSOIE 30,000 30,000
01 HAHHBSEXRS 30,000 30,000
UE=8s0gAd 30,000
A E2EEN LA A (HE) 69,412 69,412 0




A= SXAE= 2N EAF MY
I BUAL2ACIMATE
el HBREE AN (SH9 H2)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2
2l 34,706
= 34,706
307 2Izto & 69,412 69,412 0
Il 34,706
=S 34,706
05 2Zte&3 69,412 0 69,412
LSy 2| A 69,412
Il 34,706
< 34,706
AL 2E S0 2 A (K1) 1,386,232 1,607,414 A221,182
Il 1,066,332
< 319,900
308 ARISHMSOIE 1,386,232 1,607,414 A221,182
2l 1,066,332
= 319,900
01 HIXHMBdEx= 1,386,232 1,607,414 N221,182
OuEagdsSsacMg 1,386,232
Il 1,066,332
& 319,900
Ot BB T2 | XA TAN 2L = (X H) 32,80 33,810 A920
Il 32,890
308 NXIHMSOIM 32,890 33,810 A920
Il 32,890
01 MBS Ex= 32,890 33,810 A920
Dot HB 2| S A ZAEEI WS 32,890
2l 32,890
NAEAL AN L 2HE LS USE 24,250 24,500 A250
Il 24,250
308 NXIHMSOIH 24,250 24,500 2250
Il 24,250
01 MASHBLExS 24,250 24,500 A250
OXNSEAL LA 2 =SS5t uS 24,250
2l 24,250
OIET A RS H 2 HIEH 390,000 390,000 0
Il 195,000
< 195,000
307 2IZto| & 390,000 390,000 0
2l 195,000
= 195,000
05 QIZtRIE 3 390,000 0 390,000
COIENEANSFHEHEH2Y 390,000
Il 195,000
& 195,000




AR =R SH T BARH
I FAATDRINHDS
o9l AYUT BRI A (cie) 29
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HIRE2
EEEESEERENTE 2,863,903 2,863,903 0
p 2,208,002
= 660,901
308 KXISHHI SOIH 2,863,903 2,863,903 0
| 2,208,002
= 660,901
B ErEES] 2,863,903 2,863,903 0
mEETEE L] 2,863,903
pJ 2,208,002
= 660,901
&I TH 3 X K| 2 A2 100,000 00,000
308 KHXISHHI SOIH 100,000 00,000
01 RXISHBLSES 100,000 00,000
&I THOH K24 2K 25,000
CITHOHE B &HRE2 28I X 2 75,000
EEEEINE 112,100 116,600 24,500
EERSEEESY 12,100 12,100 0
201 Yur2gy| 12,100 12,100 0
01 Al 22l 12,100 12,100 0
mEETEN=T] 5,700
CEEREINERERETE 5,700
Negsg 4,400
SHESENEEECEETE 4,400
mE=E] 2,000
Q2R B2 YREFZA| 2,000
HEAERAY 20,000 20,000 0
201 22| 20,000 20,000
01 Al 22l 20,000 20,000
WETRTER =1 20,000
OslEARSERSH = 20,000
EERENES ENE 80,000 80,000
307 212H01 80,000 80,000
RPN 80,000 80,000
WEERIEOVESDIEINS: 80,000
HUASZTALY 37,606,089 40,417,522 22,811,433
2 1,190,063
p 26,297,157
= 10, 118,869
BUAYSTAR S 787,136 767,440 19,696
201 Yer2gy| 20,000 10,000 10,000
01 Al 22l 20,000 10,000 10,000
Dergt) 4,000
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A= SXAL= A 0 EAEEY
Y BMALZEMAHRS
ol JAASSTAME (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SmoETAreER e T == B Ofl &k ==
OEES=s2elA Y 65,000
= 50,000
= 15,000
ZAHERXISHIKIA 108,728 108,728 0
= 83,637
< 25,091
308 KXIEHMSOIH 108,728 108,728 0
= 83,637
= 25,091
01 AXHHBLELS 108,728 108,728 0
OEME SR Z2HI K& 108,728
= 83,637
= 25,091
ZS NN EURIXFHEHZSA 529,100 529,100 0
= 407,000
& 122,100
308 RXIHMSOIH 529,100 529,100 0
= 407,000
= 122,100
01 X HHBLEEF 529,100 529,100 0
OZS XM ENROHEXI 2 529,100
= 407,000
= 122,100
SEEAMALSTAE (REY) 2,236,420 2,182,000 54,420
| 1,118,210
= 1,118,210
307 212t01 & 2,236,420 2,182,000 54,420
Pl 1,118,210
= 1,118,210
02 QIHBAAIHE X 2,236,420 2,182,000 54,420
OSSINUHLSTAL (HE) 1,540,000
Il 770,000
= 770,000
OEyMEsd20|1229 X H 696,420
| 348,210
= 348,210
SEHMALSTAIL (XIR) 2,221,426 2,034,500 186,926
Pl 1,708,789
= 512,637
308 REXIHMSOIH 2,221,426 2,034,500 186,926
Il 1,708,789
= 512,637
01 AIXSHHBAELS 2,221,426 2,034,500 186,926




2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2

osgad 2,221,426
Jl 1,708,789
== 512,637

ST HUALSAHHEZS 27,332 271,340 A8
Il 135,666
= 135,666

307 21201 & 271,332 271,340 VaN:
Jl 135,666
= 135,666

05 212t 271,332 271,340 A8
U3e=E 271,332
Jl 135,666
=S 135,666

JI=gAAY=X 830,375 1,046,500 N216,125
) 638,750
S 191,625

308 XHXISHAI 830,375 1,046,500 N216,125
Il 638,750
= 191,625

01 XM B2 X 830,375 1,046,500 A216,125
Co1=&8 830,375
7l 638,750
= 191,625

ZARADIHYE 25,864 25,880 16
Jl 12,932
[ 12,932

308 AHXIEHHM SO 25,864 25,880 A16
Jl 12,932
= 12,932

01 XkXIEHA| 25,864 25,880 A16
OEARA0 25,864
Il 12,932
= 12,932

oA =R 1,114,776 1,321,884 A207,108
Il 557,388
== 557,388

307 elzto| & 1,114,776 1,321,884 A207,108
Jl 557,388
[ 557,388

02 QI+ H &AL 1,114,776 1,321,884 A207,108
OBY=EEH el 1,114,776
) 557,388
= 557,388




A =21 AAR SN - EAFBY
S MAZ2ACMARS
ol JAASSTAME (SH9 H2)
A 2A - B . HA(SH) - HIRAIY - BES Ofl &kl %Eﬁ Hlns
HAAUSX|ME QIR (XIE) 5,743,2% 6,787,950 A1,044,654
bl 4,417,920
[ 1,325,376
308 XIXISHHISOIE 5,743,2% 6,787,950 ~1,044,654
7l 4,417,920
(= 1,325,376
01 MHXSHHBAEERS 5,743,2% 6,787,950 ~1,044,654
[(DIZ=Z AL SKIME XA 5,743,29%
bl 4,417,920
[ 1,325,376
HADYE XA 432,432 479,9% 2,436
b 216,216
(= 216,216
308 XIXISHHISOIE 432,432 429,9% 2,436
bl 216,216
(= 216,216
01 RXSHBAEES 432 432 429,99% 2,436
OFAATDNLE AT 2 432,432
Jl 216,216
< 216,216
HAEESI} 5| =X 91,650 0 91,650
= 70,500
[ 21,150
308 XIXICHHISOIE 91,650 0 91,650
=2 70,500
(= 21,150
01 RXSHBAEERS 91,650 0 91,650
O3 MEEISI =X 91,650
= 70,500
(= 21,150
KA G LH M AL ST ALY 430,126 430,126 0
bl 330,866
< 9,260
308 XIXISHHISOIE 430,126 430,126 0
bl 330,866
[ 9,260
01 MASHBAEERS 430,126 430,126 0
OXA UL EAMHAZLSEALS 430,126
bl 330,866
[ 9,260
KA LA LTE M AYSE 32,000 32,000 0
Jl 32,000
307 QI2+0| & 32,000 32,000 0




2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
7l 32,000
05 212t =S 32,000 32,000 0
Ot A MABSH 32,000
Il 32,000
AaogetdrgAag 16,000 96,000 80,000
308 AXIMSO0IA 16,000 96,000 80,000
01 HAHHBSEEXS 16,000 96,000 /80,000
Ot ogatd T gAag 16,000
ROl AR I X & (R E) 36,095 35,490 605
Jl 18,047
= 18,048
307 212+01& 36,095 36,490 605
Jl 18,047
=S 18,048
02 2IZHB A E & 36,095 35,490 605
OSSN0 H XA 36,0%
Jl 18,047
< 18,048
KOl AL Q12 X (RI) 1,044,049 1,014,986 29,063
Il 803,115
= 240,934
308 AFAIEHMSOIE 1,044,049 1,014,986 29,063
Jl 803,115
= 240,934
01 RSN EES 1,044,049 1,014,986 29,063
CIRFatoll At Q1= X & (K1) 1,044,049
Jl 803,115
s 240,934
RO 2t =& 65,000 65,000 0
303 Z&a=s 5,000 5,000
01 Za= 5,000 5,000
X2 eI R 2RSS 5,000
308 AtXIEHMSOIE 60,000 60,000
01 AXEH B EES 60,000 60,000
OXIH&EE X 60,000
XIHXI S22 I X2 AHS (2-1SH A & EFALY) 3,096,600 2,870,400 226,200
308 XXM SOIA 3,096,600 2,870,400 226,200
01 XN B2 LS 3,006,600 2,870,400 226,200
OIXIOHXI = 2t2lHI K& A 3,096,600
S LSRN 2S 695,991 687,229 8,762
) 487,194
& 208,797




SH B O (B) - NRAY - BES 0l &y G o HIRS2
307 2I2t01 ™ 695,991 687,229 8,762
J| 487,194
T 208,797
05 QIZHRIE 695,991 687,229 8,762
OFZA=SEZYEXHMEHSSE XA 695,991
Dl 487,194
= 208,797
X0t M 2F X 16,956,709 19,271,507 A2,314,798
J| 15,773,683
& 1,183,026
308 AHX| S| 16,956,709 19,271,507 N2,314,798
J| 15,773,683
T 1,183,026
01 REXISHAI 16,956,709 19,271,507 N2,314,798
CIXIOHorA 16,956,709
J| 15,773,683
= 1,183,026
XS E==AXK 51,931 48,903 3,028
J| 46,381
& 5,550
307 S1Zto| ™ 8,370 8,370 0
J| 5,859
& 2,511
05 QI2t & 8,370 8,370 0
OXIH=s= 8,370
J| 5,859
T 2,51
308 AHX|SHA 43,561 40,533 3,028
J| 40,522
== 3,039
01 RFXISHA 43,561 40,533 3,028
OXI8s=AX 43,561
J| 40,522
& 3,039
AZBUHASF 42,000 42,000
308 KEX| S| 42,000 42,000
01 REXISHAI 42,000 42,000
Oy ol 42,000
=l HAAL(BANH 80,800 86,200 N5,400
ectall 80,800 86,200 A5,400
=3H| 80,800 86,200 A5,400
201 LEt2HH| 31,200 36,600 A5,400
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Hr w0~

W & o
A RO T

-

KIO

Hlw

N5,400

HE
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46,000
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3,600
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Ofl &F2H

31,200

12,000
9,000
3,000

19,200

19,200

46,000

46,000

46,000

3,600
3,600
3,600

- SHRAZA) - HRANY - BES

- B

- 24

01 AtR2telbl

ol

OAREAZEH
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Mo
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H & 0l & AHS B Ml A

=
=

od
i’
oF
uJ

-

KIO

Hlw

/30,703,264

N26,876,116

N\26,870,664

240,000

5,000
5,000

7,000

A45,000
245,000

7,000

HMEE
Ofl &k2h

113,376,060

73,527,070

68,318,108

79,900
79,900

409,220

4,320
4,320
20,000

20,000
5,000
5,000

300,000
300,000
600,000

600,000

Ofl &F2H

82,672,79%
24,129,813
34,007,543
24,445,440
46,650,954
11,975,813
22,851,311
11,823,830
41,447,444

Il
J|

i

79,900
79,900
76,000

6,000
20,000
50,000

8,855,260
369,220

22,644,686
9,947,498

Jl

900

900
3,000
3,000
4,320
4,320
4,320
20,000
20,000
20,000
10,000
10,000
10,000
255,000
255,000
15,000
240,000
607,000
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303,500
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303,500
303,500
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)
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H
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=
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